IELTS Writing Practice Test 6

TASK 1 (20 minutes)
The diagram shows the skeletal systems of two ancestors of modern human beings.

Write a 150-word report for a university lecturer describing the diagram and making
comparisons where relevant.

Australopithecus qferensis Hameo erectus
walker & tree climber) (walker & endurance runmer)

Balanced head
@ (short snout)

Low, wide shoulders

Unbalanced head
(long snnm}hh“‘"'"

High, narrow shoulders

Shm forearm

Eig gluteus marmus
(nﬂl showm)

u:_-'- Short fermoral
" f?' neck

Large hip, lmee &
y ** anlkdle joints
| Long Achilles tendon

Enlarged heslhone

Short Achilles tendon
amall heetbone

Long toes Partmal fool arch Stabiled fool arch  Short toes

TASK 2 (40 minutes)

In many developed countries, life expectancy is rising while birthrates are falling. As a
result, the elderly will make up a much larger proportion of the population in future.

Is this a positive or negative development?

You should write at least 250 words.
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